
W53. If a,b, c  0 then


k1

n
a2k  b2k  c2k

ak  bk  ck
 a2  b2  c2

a  b  c

nn1

2
.

Mihály Bencze.

Solution by Arkady Alt, San Jose, California, USA.

Let An : an1  bn1  cn1

an  bn  cn
, n    0, a, b, c  0.We will prove that

for any n    0 holds inequality An1  An.

Indeed, a
n2  bn2  cn2

an1  bn1  cn1
 an1  bn1  cn1

an  bn  cn
 an2 an  an1

2


a2n2 anbn2  cn2  a2n2  2bn1cn1 

anbn2  anbn2  2an1bn1  anbna  b2  0.

Thus, for any n   holds An  A1. Since a
2n  b2k  c2k

an  bn  cn
 

kn

2n1

Ak  A1
n

then 
k1

n
a2k  b2k  c2k

ak  bk  ck
 

k1

n

A1
k  A1

12...n  A1

nn1

2  a2  b2  c2

a  b  c

nn1

2
.


